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!!= olb jflif{s kl/df0f @%,))) s]=hL= / ldtJooL cfb]z kl/df0f (EOQ)  !,))) s]=hL= eP
cfb]z ;+Vof kQf nufpg'xf];\ .
If annual requirements is 25,000 Kgs. and EOQ 1,000 Kgs then find out
number of order.

;d"x ‘v‘ (Group 'B')

;+lIfKt pQ/fTds k|Zgx¿ (Short answer questions) *%$)
!@= Ps sDkgLn] ?= !) cltl/Qm d"Nodf ?= !)) b/sf !),))) lsQf z]o/ hf/L u¥of],

e'QmfgL lgDgfg';f/ x'g]5 .
A company issued 10,000 shares of Rs 100 each at Rs. 10 premium payable
as under.
cfj]bgdf (On application) Rs. 40

af“8kmf“8df (On allotment) Rs. 45

k|yd tyf clGtd ls:tf (On First and final call) Rs. 25

!%,))) lsQf z]o/sf] nflu cfj]bg k|fKt eof] . !@,))) lsQf cfj]bgnfO{ ;dfg'kflts
b/df z]o/sf] af“8kmf“8 ul/of] / #))) lsQfnfO{ lkmtf{ ul/of] . cfj]bgdf k|fKt a9L /sd
z]o/ af“8kmf“8df pkof]u ul/of] . ;a} ls:tf /sd dfu u/] adf]lhd k|fKt eof] .
Application were received for 15,000 shares. Allotment were made for
12,000 shares were allotted on pro-rata basis and 3,000 shares were
rejected. Excess application money were utilized towards amount due on
allotment. All the called money were duly received.

tof/ ug'{xf];\ (Required): ef}r/x¿ (Journal entry for) !=%+@+!=%
a) z]o/ cfj]bg (Share application)

b) z]o/ af“8kmf“8 (Share allotment)

c) k|yd tyf clGtd ls:tf (Share first and final call)

!#= (I) Pp6f sDkgL lnld6]8n] ?= !)) b/sf z]o/ lgisf;g u/]sf]df $)) lsQf z]o/sf] k|lt
z]o/ ?= @) sf b/n] Ps hgf z]o/wgLaf6 clGtd ls:tfsf] /sd k|fKt ePg / pQm z]o/
hkmt ul/of] . pQm hkmt z]o/ dWo] #)) lsQf z]o/ ?= &) k|lt z]o/df k'/} r'Qmf x'g]
u/L k'gM lgisf;g ul/of] . (A company ltd. forfeited 400 shares of Rs. 100
each for non-payment of final call money of Rs. 20 per share out of  forfeited
shares 300 shares were re-issued at Rs. 70 per share as fully paid) :

tof/ ug'{xf];\ (Required): !+!+!
i) z]o/ hkmt ef}r/ (Entry for forfeiture)

ii) k'gM lgisf;g ef}r/ (Entry for re-issue)

Sub.Code : 1041'V'

qmdzM(Contd...)

NEB - GRADE XII
 2079 (2022)
Accounting
(New course)

For regular students

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s
hgfp“b5 .

Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 3 hrs. Full Marks: 75

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt all the questions)

 ;d"x ‘s’ (Group 'A')

clt ;+lIfKt k|Zgx¿ (Very short answer questions) !!!!!

!= ljj/0fkqsf] cy{ n]Vg'xf];\ . (Write the meaning of prospectus.)

@= cu|flwsf/ z]o/sf] kl/efiff n]Vg'xf];\ . (Define preference shares.)

#= af;nftsf] kl/efiff lbg'xf];\ . (Define Balance sheet. )

$= nfut n]vfsf] s'g} b'O{ p2]Zox¿ n]Vg'xf];\ .
Write any two objectives of cost accounting.

%= l:y/ nfut eg]sf] s] xf] < (What is fixed cost ?)

^= ;fdu|L lgoGq0f eg]sf] s] xf] < (What do you mean by material control ?)

&= PsfO Hofnf k|0ffnL eg]sf] sf] xf] < (What is piece rate wage system ?)

*= sDKo'6/ ;km\6j]o/sf] cy{ n]Vg'xf];\ .  (Write the meaning of computer software.)

(= ltg'{kg]{ tna ?= @),))) sf] ;dfof]hg k|ljli6 tof/ kfg'{xf];\ .
Prepare adjusting entry for salary payable Rs. 20,000.

!)= tn lbOPsf] ;"rgfsf] cfwf/df jif{ II sf] u|fxsaf6 gub ;+sng lgsfNg'xf];\ .
From the following information, calculate cash collection from customer
in year II.
pwf/f] ljqmL (Credit sales) Rs. 6,00,000

ljljw cf;fdLx? (Sundry debtors) Year I Rs. 40,000
Year II Rs. 60,000



tna (Salaries) Rs. 1,00,000

cGo vr{ (Other expenses) Rs. 5,50,000

yk hfgsf/L (Additional information):

i) ltg{ af“sL tna (Salary due)   Rs. 10,000

ii) l:y/ ;DklQdf ¥xf; sl§ (Depreciation on fixed Assets) Rs. 20,000

tof/ ug'{xf];\ (Required): @+#
sDkgL P]g, @)^# cg';f/ cfo ljj/0f / jf;nft (Income statement and Balance
sheet as per companies Act, 2063)

!^= nfut n]vfsf] kl/efiff lb“b} o;sf s'g} tLg dxŒjx¿ n]Vg'xf];\ . @+#
Define cost account and write any three importance of it.

!&=(I) aLg sf8{ eg]sf] s] xf] < (What do you mean by bin cards ?) @

   (II) lnld6]8 sDkgLsf] r}q dlxgfsf] e08f/ sf/f]jf/x¿ lgDgfg';f/ 5g\ M (Stores
transactions of a limited company for the month of Chaitra are given below:

r}q (Chaitra)1: z'? df}Hbft (Opening stock) 500 units@ Rs. 10

r}q (Chaitra)5: vl/b (Purchased) 400 units@ Rs. 11

r}q (Chaitra)15: lgsf;L (Issued) 600 units

r}q (Chaitra)22: vl/b (Purchased) 300 units@ Rs. 12

r}q (Chaitra)25: ;fx'nfO{ lkmtf{ (Return to vendors) 50 units

tof/ ug'{xf];\ (Required): #
efl/t cf}ift ljlw cGtu{t e08f/ vftf
Store ledger under weighted average method.

!*=(I) Ps 306fdf !) yfg pTkfbg ug'{kg]{ / k|lt yfg ?= !) Hofnf tf]lsPsf] 5 . Ps hgf
>ldsn] Ps dlxgfdf @$) 306f sfd u/]sf] 5 .
The standard output per hour 10 units. The piece rate is Rs.10 per unit
and worker worked 240 hours in a month.

tof/ ug'{xf];\ (Required): @
>ldssf] dfl;s Hofnf
Monthly wages of the worker.

  (II) nfut n]vf tyf ljlQo n]vf t'ngf ubf{ lgDg tYox¿ km]nf k¥of] . (On reconciliation
of cost account and financial account following facts were located.)
a) ¥xf;sl§ (Depreciation)

- ljQLo n]vf (On financial account) Rs. 40,000
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iii) /sdfGt/ ef}r/ (Transfer entry)

(II) Pp6f sDkgLn] ? !)) b/sf] $,))) lsQf z]o/ lgDg ;DklQ v/Lb ug{ hf/L u¥of] .
A company ltd. issued 4,000 shares or Rs. 100 each to purchase the
following assets.
l:y/ ;DklQ (Fixed Assets) Rs. 4,50,000

df}Hbft (Stock) Rs. 50,000

tof/ ug'{xf];\ (Required): !+!
;DklQ vl/bsf] ef}r/x¿ (Entries for purchase of assets)

!$= Pp6f lnld6]8 sDkgLsf] @)&* r}q #! sf] ;Gt'ng k/LIf0f lbOPsf] 5 .
The Trial balance of a ltd. company as on 31st Chaitra, 2078 is given below.

ljj/0f (Particulars)           Rs.     ljj/0f(Particulars) Rs.

d]lzg/L (Machinery) 1,10,000 ljqmL (Sales) 2,00,000

gub (Cash) 40,000 !)% C0f (10% loan) 1,10,000

v/Lb (Purchase) 1,10,000 z]o/ k“'hL (Share capital) 50,000

cf;fdLx? (Debtors) 50,000

aLdf (Insurance) 20,000

Hofnf (Wages) 30,000

3,60,000 3,60,000

yk hfgsf/L (Additional information):

a) cu|Ld aLdf e'QmfgL (Pre-paid insurance) Rs. 5,000

b) ltg{ af“sL Hofnf (Outstanding wages) Rs. 2,000

tof/ ug'{xf];\ (Required): %
sfo{ ljj/0f (Work sheet)

!%= Pp6f sDkgLsf] ljQLo sf/f]af/sf] ljj/0f lgDgfg';f/ lbOPsf] 5 .
The following financial transactions of a company is given below :
gub (Cash) Rs. 1,00,000

cf;fdLx? (Debtors) Rs. 80,000

l:y/ ;DklQ (Fixed Assets) Rs. 6,40,000

C0f kq (Debentures) Rs. 4,00,000

;fx' (Creditors) Rs. 10,000

z]o/ k'“hL (Share capital) Rs. 3,60,000

ljqmL (Sales) Rs. 7,00,000
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yk hfgsf/Lx¿ (Additional information):

i) ljqmL (Sales): Rs. 6,50,000

ii) ljqmLsf] nfut (Cost of goods sold): Rs. 4,00,000

iii) ;~rfng vr{ (Operating Expenses): Rs. 1,73,000

iv) ?= ̂ ),))) df KnfG6 ljqmL ul/of] eg] ?= @,)),))) sf] yk vl/b klg ul/of] .
Plant worth Rs.60,000 were sold and additional plant worth Rs. 2,00,000
were purchased:
v) cfos/ e'QmfgL ?= !@,))) / nfef+z e'QmfgL ?= ̂ ),))) . (Income tax paid Rs.
12,000 and dividend paid Rs. 60,000.)

tof/ ug'{xf];\ (Required): $+!+@+!
k|ToIf ljlwaf6 gub k|jfx ljj/0f
Cash flow statement using direct method

@!= Pp6f sDkgLsf] @)&& c;f/ #! sf] ;Gt'ng k/LIf0f lgDgfg';f/ 5 .
The trial balance on 31st Ashadh 2077 of a company is as follows :

ljj/0f (Particulars)                       Dr. Rs. Cr.Rs

z'? df}Hbft (Opening stock) 10,000 -

vl/b (Purchase) 1,20,000 -

tna (Salary) 12,000 -

ef8f (Rent) 13,000 -

Hofnf (Wages) 14,000 -

laqmL sldzg (Sales commission) 10,000 -

lj1fkg (Advertisement) 8,000 -

d]lzg/L (Machinery) 2,00,000 -

Jofh (Interest) 4,000 -

gub (Cash) 6,000 -

cf;fdLx? (Debtors) 10,000 -

nufgL (Investment) 20,000 -

sfg"gL vr{ (Legal expenses) 15,000 -

ljqmL (Sales) - 3,30,000

z]o/ k“'hL (Share capital) - 1,00,000

ltg'{kg]{ (Bills payable) - 12,000

4,42,000 4,42,000
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- nfut n]vf (On cost account) Rs. 35,000

b) z'? df}Hbft (Opening stock)

- ljlQo n]vf (On financial account) Rs. 75,000

- nfut n]vf (On cost account) Rs. 90,000

c) ljlQo n]vfdf cfos/ e'QmfgL pNn]v ePsf]
    Income tax shown in financial account Rs. 4,000
d) ljlQo n]vf cg';f/ d'gfkmf
    Net profit as per financial account Rs. 1,10,000

tof/ ug'{xf];\ (Required): #
nfut tyf ljlQo n]vfsf] lx;fa ldnfg ljj/0f
Reconciliation statement of cost and financial account.

!(= sDKo'6/s[t n]vf k|0ffnL eGgfn] s] a'‰g'x'G5 < sDKo'6/s[t n]vf k|0ffnLsf kmfObfx?
n]Vg'xf];\ . %
What do you understand by computerized accounting system ? Write the
advantage of it.

;d"x ‘u‘ (Group 'C')

nfdf] pQ/fTds k|Zgx¿ (Long answer questions) #*@$
@)= Pp6f sDkgLsf] ljut b'O{ jif{sf] jf;nft lgDgfg';f/ lbOPsf] 5 .

A company provides following balance sheet of last two years.

ljj/0f (Particulars)                     Dr. Rs.       Cr.Rs

z]o/ k'“hL (Share capital) 6,00,000 7,00,000

C0fkq (Debenture) 1,50,000 1,00,000

;fx'x? (Creditors) 50,000 25,000

cljtl/t gfkmf (Retained Earning) 50,000 75,000

8,50,000 9,00,000

KnfG6 (Plant) 4,00,000 5,30,000

nufgL (Investment) 40,000 70,000

df}Hbft (Stock) 1,00,000 1,20,000

cf;fdLx? (Debtors) 2,20,000 1,80,000

gub tyf a}+s (Cash & Bank) 90,000 -

8,50,000 9,00,000
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1041'V' (8)

yk hfgsf/Lx¿ (Additional information):

a) clGtd df}Hbft (Closing stock): Rs. 43,000

b) ltg{ af“sL Jofh (Outstanding interest): Rs. 6,000

c) d]lzg/Ldf ¥xf; (Depreciation on machinery): @15%

d) cfos/sf] nflu Joj:yf (Provision for tax): @20%

tof/ ug'{xf];\ (Required): $+$
a) NFRS cg';f/ cfo ljj/0f (Income statement as per NFRS)

b) NFRS cg';f/ jf;nft (Balance sheet as per NFRS)

                                OR

lgDg cg';f/ @)&& c;f/ #! sf] ;Gt'ng k/LIf0f lbOPsf] 5 .
Following trial balance on 31st Ashadh 2077 given as :

ljj/0f (Particulars) Dr. Rs. Cr.Rs

crn ;DklQ (Fixed Assets) 2,00,000 -

v/Lb (Purchase) 1,80,000 -

ljqmL (Sales) - 4,20,000

ljqmL lkmtf{ (Sales return) 10,000 -

cf;fdL / ;fx'x? (Debtors & creditors) 1,40,000 60,000

sldzg (Commission) 5,000 15,000

Hofnf (Wages) 6,000 -

d;nGb (Stationery) 4,000 -

cGo sfof{no vr{
(Other office expenses) 7,000 -

v/fa C0f (Bad Debts) 8,000 -

z]o/ k'“hL (Share capital) - 2,00,000

a}+s df}Hbft (Bank Balance) 1,35,000 -

6,95,000 6,95,000

yk hfgsf/Lx¿ (Additional information):

a) clGtd df}Hbft (Closing stock): Rs. 44,000

b) ltg{ af“sL Hofnf (Outstanding wages): Rs. 2,000

c) crn ;DklQdf ¥xf; (Depreciation on fixed Assets): @20%

d) cfos/sf] nflu Joj:yf (Provision for income tax): Rs. 12,000
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tof/ ug'{xf];\ (Required): %+#
a) ax'r/0f cfo ljj/0f (Multi-step income statement)

b) jf;nft (Balance sheet)

@@= Pp6f sf/vfgfsf] ut jif{sf] lgDg hfgsf/Lx? lbOPsf 5g M
Last year's following information of a factory is given as :

z'? tyf clGtd df}Hbftx? (Opening and closing stock)

         Items Opening Closing

sRrf kbfy{ (Raw Materials) 40,000 60,000

cw{tof/L j:t' (Semi-finished goods) 60,000 50,000

tof/L j:t' (Finished goods) 80,000 1,00,000

sRrf kbfy{sf] v/Lb (Raw Material Purchase): Rs. 4,20,000

leq 9'jfgL (Carriage inward): Rs. 10,000

ef8f (Rent): Rs. 16,000

k|ToIf Hofnf (Direct wages): Rs. 2,00,000

ck|ToIf Hofnf (Indirect wages): Rs. 14,000

sf/vfgf aLdf (Factory insurance): Rs. 8,000

d;nGb (Stationery): Rs. 12,000

tna (Salary): Rs 15,000

lj1fkg (Advertisement): Rs. 5,000

ljqmL sldzg (Sales commission): Rs. 6,000

gfkmf (Profit): Rs. 20% on sales

tof/ ug'{xf];\ (Required): *
nfut ljj/0f (Cost Sheet)
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